Questions from Homework
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Graph the following equation!
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Find 4 equations to represent the following graph:
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A Ferris wheel has a radius of 12m and makes one Eﬂ)lution every 12 seconds.
The bottom of the wheel is 2m above the ground. If a person gets on at the

bottom and goes up, determine the following: d\ mll‘(f
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A water wheel has a radius of 10m. 3 m of the wheel is submerged under water.
If the wheel makes one revolution in 360 degrees and the bucket starts at the

center and goes up, find the following: 6‘&“‘\( *"C.f
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